HB1.1

1)  Find the lowest common multiple of 8 and 14

2)  Find the nth term of the sequence 5, 12, 19, 26, ...

3) Workout8 —4x2

4) Workout 7.3 X 29

5)  Work out 20520 = 60



HB1.2

5

1)  Work out 422
5 7

2)  Find 45% of £280

3) Expand and simplify 3(3x+5) — 2(4x+ 5)

4) Solve 2(2x+3) =5

5) Work out the value of 7 — 4e whene = —2



HB1.3
1)

2)

3)

4)

5)

Find the highest common factor of 70 and 245

Find the 50t term of 23, 29, 35, 41, ...

Workout20 —4 X3+ 2

Work out 73 X 2.8

Work out 5138 + 14



HB1.4

1)  Work out4§+ 32

2)

3)

4)

5)

Find 45% of £280

Expand and simplify 5(2x + 4) — 3(4x + 6)

Solve 6x +4 =2

Work out the value of 100 — 4a? when a = 3



HB1.5
1)

2)

3)

4)

5)

Find the lowest common multiple of 70 and 55

Find the 50t term of 29, 36, 43, 50, ...

Work out 5 + 2 x 32

Work out 4.6 X 27

Work out 5616 + 24



HB1.6 Ok 10
o u,fg;
1)  Work out 55— 22 Ok

2)  Find 90% of £280

3) Expand and simplify 3(5x — 2) + 4(3 — 5x)

4)  Solve 2(5x +3) = —13

5)  Work out the value of 20 + 3a? when a = —3
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